KSACHIZ=

@ FHEE ®m52mm, B5/E125mm.

OVA F&) A F KL HALE

@ 17/ I A (VA1007 K 14.7KN, A I H (V307 Kit)
29.4KN,

® /500 ~70° FEAESe h—A%,

B BHREN R IR R

—— RE
o — i ® MR EF AR E L, 5 P 13 A 1R0.06 ~ 0.14, JRH
0.03~0.075LAN 9 1) AR IR EE L5y, 0 o o T 3RV AL
1 ,
LS ® 7% 45 1= e 55 3R Zh 3 14 120.01 ~ 0.03,
2ona) o ® Lo % LI R R T AL BRI A
I ® & TRAR Y BEIRRE LG, PTANEAL,
120 ' ® 5 A K AT, A n ik AR AL e T & R K e T
[—=sm A, AHIRESE
1= Wtk
o
59 j SRR D ENTET

B KSACH#FEIFNAL

® KSACH) 5 &7 ik
1. 3T AN AZATO L 1 IRAZHD
2, FEHOMNREON G T L
KSACH %R 7 ik
© LUK 45 o R 6 1 G B AT
* FINEFH>RHAMED, TRZ
WA TR E RS
& B A EHR T e fe A R AR 18] TR
K, PrvAe Azl o 69145 )5 Ba
o
* . MRE, BANEEBLREREE
PSR 0




Aerial Cam Unit

~\

| KSAC52-00

B EEM4R

Table of Components

52(W) 5
_ w2 am o |aw JEEEE
S o. escription Y| " Remark
o
R
@ Cam Holder 1 | QT450
TBEIR
@ lCam Slider 1 || @k
IR EHER
® Cam Driver 1145
SEER
sc @ Slide Keeper 2145
T B
® | Positive Return 1145
Follower
M7 FIRET
(® | Hexagon Socket | 2 | M8x20
Head Bolt
IR HE
@ | & S 1 | TL27-100
iR
Sté)pper 2 | 210X8
AARIEE]
(©® | Hexagon Socket 5 | M8X15
Head Bolt
iR
Stopper Plate 145
N
~ mIN N
Working Force kN(tonf) Spring Force N(kgf) ST
1712 AT VAT BEE RS | (W)|(8) =3
Traviel %lgoﬁ@j):, ﬁ(’é%ﬁ@)j] WE KRIE Total Weight CatalogNo. Cﬁfgg?‘,\jﬂo
S Standard Working Force Allowable Working Force Initial Load Final Load kg ’
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
19.3 (1.5) (3.0) (25.0) (100.0) 53 KSAC | 52|00 sucb
[Catalog No| [(W) [-[(6)]
KSAC 52 - 00
BIGES G
Option Code Specification
ZRYETE AT I A04< 1 02060mm (F5 3 10mmEa fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm). KSAC
52

Order KSAC52-00-SC30

Sankyo:2Sankyo Oilless Industry, Inc. B EAETFR-
Sankyo is a registered trademark of Sankyo Oilless Industry, Inc.




Aerial Cam Unit

- KSAC52-05 |

4 ™
= 3|
B THHR
Table of Components
we|  am o am JAREET
52(w) No. Description Qty| ™Remark
T
B R
? o Cam Holder 1| QT450
BER
@ bam Slider i || Cuese
IR
® Cam Driver 1145
SEER
@ Slide Keeper 21145
B E
se ® | Positive Retumn 1 (45
Follower
A FIRET
(® | Hexagon Socket 2 | M8X%20
Head Bolt
IR e B
@ | gk Soring 1 | TL27-100
iR
Stépper 2 | 910X8
R FAIRET
(©® | Hexagon Socket 5 | M8x15
Head Bolt
iR
Stopper Plate 145
-
 mIA  WEA
Working Force kN(tonf) Spring Force N(kgf)
1772 RAE T T BEE KRS [(W)[(6)[ SANKYO
Travel *(T(go;i@j)] 5%%77@7‘; WE & IE Total Weight CatalogNo. KRR
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
213 (1.5) (3.0) (25.0) (100.0) 52 KSAC | 52| 05| SUCD

[Catalog No| [(W)] (@]

Order

KSAC 52 - 05

BIgES i
Option Option Code Specification
RS AT 1A AR 102)60mm (HE 7 10mm A i7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).
NG

@ Order KSAC52-05-SC30




Aerial Cam Unit

[ \
e N
= 3|
B FE4R
Table of Components
e o | MR
Nc? Description Qty M?%Z';:.Iaalﬁ(nd
I 52(w)
g R
S Cam Holder 1| QT450
BEER
bam Slider 1 | Q450
IRz
® | Cam Driver 1145
SEER
@ Slide Keeper 2 (45
sc BRI [E
® | Positive Return 1145
Follower
M7 FIRET
(® | Hexagon Socket | 2 | M8x20
Head Bolt
YRR
@ X eedy 1 | TL27-100
§;ﬁi’§r 2 | o108
AFIRE]
© | Hexagon Socket | 5 | M8x15
Head Bolt
iR
Stopper Plate 1145
-
- mIAh | HEN
Working Force kN(tonf) Spring Force N(kgf)
1712 FRAEIMTI A KEMIAH RER Ks wy|(e) SANKYO
Travel (10077 @) (307 E) NE 3:4 Total Weight| Catalog No. KE3FEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
23.3 (1.5) (3.0) (25.0) (100.0) 5.1 KSAC (52 10 sSucD

[Catalog NoJ [(W) ] [(0)]

KSAC

52 - 10

BRS
Option Code

4

i
Specification

SC

ZIETE AT A< 102060mm (45 2 10mmEgfir)
The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

\N) /s

@ Order KSAC52-10-SC30

KSAC
52




Aerial Cam Unit

r ]
- ™~
B TR
Table of Components
ke s |wg AREEE
- N: Description Qt? Mathrrlr?alind
3 52w T
- @ Cam Holder 1| QT4s50
@ ?aﬁnj'n%lider 1| Qr4s0
IREHER
® Cam Driver 1]45
SEER
Sc @ Slide Keeper 2145
S IR
® | Positive Return 1|45
Follower
NFRIBET
® | Hexagon Socket | 2 | M8x20
Head Bolt
Ly 5
@ | zh Spring 1 | TL27-100
iy
53%% 2 | o10x8
HARIBET
(© | Hexagon Socket | 5 | M8Xx15
Head Bolt
1R
Stopper Plate 1|45
N
~ mIh D
Working Force kN(tonf) Spring Force N(kgf)
1712 T i RER RS (W) ()|  SANKYO
Travel *;(1‘1/&)”%1@7)7 j%é%%:ﬁl[)ﬁ HE &I Total Wﬁght Catalo.g No. KREXTEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
254 (1.5) 3.0) (25.0) (100.0) 5.0 KSAC | 52| 15 Sucb
[Catalog No| [(W)]-[(6)]
KSAC 52 - 15
EmEE [N
Option Code Specification
YT AT LA A< 10206 0mm (F57E 1 0mmEa fiz)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).
NS

Ton Order KSAC52-15-SC30

Q
&)




Aerial Cam Unit

| KSAC52-20

~\

- ™~
B FEM4R
Table of Components
we|  mm  |am HHEEE
No Description Qty e
D
g R
8 52(,,,,) 0 Cam Holder il || ey
BEIR
@ bam Slider 0 || @wzsm
IR
® Cam Driver )4
SEER
Se @ Slide Keeper 21145
S& i [E]
® | Positive Return 1|45
Follower
M7 FIRET
(® | Hexagon Socket | 2 | M8x20
Head Bolt
RS
@ | & Soning 1 | TL27-100
iR
Stl)pper 2 | 210X8
AN FIRET
(©® | Hexagon Socket 5 | M8x15
Head Bolt
IR
Stopper Plate 1145
N
I H BEN
Working Force kN(tonf) Spring Force N(kgf)
1772 TN YT BEE RS | (W)[(6)] SANKYO
Travel *?Yggjﬁlilj)] ﬁgg}?]:'ulil)j] VE 23:3 Total Weight | Catalog No. REITE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
276 (1.5) (3.0) (25.0) (100.0) 5.0 KSAC |52 | 20| SUCD
[Catalog No| [(W) -[(0)
KSAC 52 - 20
BIGES e
Option Code Specification
ZRYETE AT I A04< 1 02060mm (H5 7 10mmeEa fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-20-SC30

KSAC
52




Aerial Cam Unit

' KSAC52-25 |

e N
B TR
Table of Components
s am  |ma HEAET
f? No Description Qty Mar\fz'::;rind
Y
[RE
©) Cam Holder i || @wEe
521 BB
" ® bam Slider 1| QT4s0
Se IRtk
® Cam Driver %=
SEER
@ Slide Keeper 21145
SRR [E]
(® | Positive Return 1|45
Follower
R FRIEET
(® | Hexagon Socket | 2 | M8x20
Head Bolt
UZ eSS
@ Coil Spring 1| TL27-100
o 2 | o10x8
M7 FIBET
(® | Hexagon Socket 5 | M8x15
Head Bolt
iR
Stopper Plate 145
-
 mIA  BEA
Working Force kN(tonf) Spring Force N(kgf)
1712 RAMT YT REE KRS (W) [(8)]  SANKYO
Travel %’ggﬁ@j)j ﬁé%’yji@)j] WE HIE Total Wﬁght CatalogNo. REXTEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980.0
30.0 (1.5) (3.0) (25.0) (100.0) 5.0 KSAC | 52| 25 Sucb
[Catalog No] [(W)]-[()]
KSAC 52 - 25
EmEs W
Option Code Specification
ZRYETE AT I A04< 1 02060mm (F5 7 10mmeER fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-25-SC30




Aerial Cam Unit

[ 3\
- ™~
B TR
Table of Components
we|  mm | SHREE
No. Description Qty REra
3
S R
& @ Cam Holder 1| Qr4s0
%2
My B
@ bam Slider 1 @T450
® -Cam%river (RS
Se
SEER
@ Slide Keeper 2145
38 il e
® | Positive Return 1145
Follower
R RIBET
® | Hexagon Socket | 2 | M8X20
Head Bolt
42 e g
(@) ||t Soring 1 | TL27-100
iR
Stopper 2 | 010%8
AARIEE]
(©® | Hexagon Socket 5 | M8X15
Head Bolt
R
Stopper Plate 1145
N
mIA BEN
Working Force kN(tonf) Spring Force N(kgf)
1718 R )’ REE RS wy|(e) SANKYO
Travel %lggj%lﬁlj)] j%é%gg:lﬁtlﬁ VIE 2353 Total Wﬁght Catalog No. REXIE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
147 29.4 245.0 980.0
326 (15) (3.0) (25.0) (100.0) 50 KSAC | 52301 SuCD
[Catalog NoJ [(W)]-[(6)]
KSAC 52 - 30
BIGES R
Option Code Specification
ZRYETE AT I 04< 10206 0mm (H5 7 10mmeEa fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm). KSAC
52

Order KSAC52-30-SC30




Aerial Cam Unit

' KSAC52-35 |

e N
B FE4R
Table of Components
®e % | MRREE
> No. Description | Qty M?—\Ez”r:‘;ﬁ("d
12}
I R
@ Cam Holder 1] Q450
TBETR
&) ICam Slider 1| aT4s0
So 6;.,
", IR R
7 ® Cam Driver 145
RES
@ | Siide Keeper 2|45
R
(® | Positive Return 145
Follower
M7 FIRET
(® | Hexagon Socket 2 | M8X20
Head Bolt
IR
@ | & T 1 | TL27-100
%&%ﬁ%r 2 | o10%8
HIARIBET
(® | Hexagon Socket 5 | M8X15
Head Bolt
=L
Stopper Plate 1]45
-
I A BEN
Working Force kN(tonf) Spring Force N(kgf)
1712 39 i RES RE W)[(e)| SANKYO
Travel *ﬁ'gg]%lgj):, ﬁé%gg%)j] WE 34 Total Wﬁght Catalo-.g—iT No. KREFTER
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980
354 (1.5) (3.0) (25.0) (100.0) 4.9 KSAC |52 35] SUCD
[Catalog NoJ| [(W) -[(6)]
KSAC 52 - 35
EmEs B
Option Code Specification
ZRYETE AT I A04< 1 02060mm (F5 7 10mmeER fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-35-SC30




Aerial Cam Unit

| KSAC52-40 |

~ ~

B EEP AR

Table of Components

#s g e MEAEE
‘6@ N:)? Description Qty M?{Zﬂ,'aalﬁ(nd
¥

[RFE

) Cam Holder i || Qe

S
N BER
Se K ® bam Slider 1 | @usm

IR R

® Cam Driver )4
SEER

@ Slide Keeper 2145
BRI

(® | Positive Return 1145
Follower
M7 FIRET

(® | Hexagon Socket 2 | M8X20
Head Bolt
RS

@ Coil Spring 1 | TL27-100

%&ﬁﬁ%r 2 | o10%8
FAFRIBET

(@ | Hexagon Socket | 5 | M8x15
Head Bolt
=l

Stopper Plate 145

-
~ mIAh - HEN
Working Force kN(tonf) Spring Force N(kgf)
1712 AT T SEE RS (W)|(e)|  SANKYO
Tl'aviel 1;(]-1,(%(%17 Elj)] j%é%jj'g El;] WE 73 Total Weight Catalog No. REXEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980
38.6 (1.5) 3.0) (25.0) (100.0) 5.0 KSAC | 52 | 40 SuUCD
Order |Catalog No.| [ (W) |-[(6)|
KSAC 52 - 40
BINGES e
Option Option Code Specification
LA A A< 10260mm (F57E 10mmEa i)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm). KSAC
N17 52

@ Order KSAC52-40-SC30




Aerial Cam Unit

| KSAC52-45 |

- ™~
= 3|
B TR
Table of Components
ws|  mm  |am SHEEE
No. Description Qty e
R
©) Cam Holder 1 | QT4s0
> B
éf &) lCam Slider i || @wsw
IR
® Cam Driver 145
So
SEER
@ Slide Keeper 2145
R
® | Positive Return 1145
Follower
S MAFIRET
7, (® | Hexagon Socket | 2 | M8x20
7 Head Bolt
UEHESAEE
@ | EolfSoring 1 | TL27-100
iR 0
Stopper 2 | 210X8
NFRIEET
©@ | Hexagon Socket 5 | M8X15
Head Bolt
=1
Stopper Plate 145
N
TN EEN
Working Force kN(tonf) Spring Force N(kgf)
1712 RN T T RER KRS | (W)|(8)] SANKYD
Travel %ﬁox@j)] %%75@)” NE 73 Total Wﬁght Catalog No. REFTEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980
423 (15) (3.0) (25.0) (100.0) 5.0 KSAC | 52| 45 sucb

[Catalog No.| [ (W) ]-[(6)]

KSAC

52 - 45

BINRS
Option Code

R
Specification

sC

RS AT LA A< 102)60mm (5 7E 1 0mmEa{ir)
The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

~

j f

LS
&

R| Order KSAC52-45-SC30




Aerial Cam Unit

[ 3\
- ™~
W TR
Table of Components
we|  mm  |am SHEEE
No. Description Qty Remark
JREE
©) Cam Holder 1| @ras0
TBER
> ©) lCam Slider i || ewrsE
N2
& IR
® Cam Driver 145
RES
@ Slide Keeper 2145
% I
& (® | Positive Return 1|45
\"’% Follower
7 M7 FIRET
(® | Hexagon Socket | 2 | M8X20
Head Bolt
UEHESEEE
@ Cofl Soring 1 | TL27-100
iR
Stopper 2 | 210X8
ANFIRET
(® | Hexagon Socket 5 | M8X15
Head Bolt
=1
Stopper Plate 145
N
I H BEN
Working Force kN(tonf) Spring Force N(kgf)
1712 T i RER RS wW)|(e) SANKYO
Travel *ﬁlggj%lgj)] ﬁ%%jyj%)ﬁ VIE 3:3 Total Wﬁght Catalog No. e=pali]
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980
46.7 (1.5) (3.0) (25.0) (100.0) 5.0 KSAC |52 50| sSucbh
[Catalog No| [(W) (9]
KSAC 52 - 50
BIGES G
Option Code Specification
ZRYETE AT I A04< 1 02060mm (F5 7 10mmeEa fi7)
SC The mount surface is extended forward in the

range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-50-SC30

KSAC
52




Aerial Cam Unit

r ]
|
e N
B FEHR
Table of Components
e £ e i
No Description Qty Ma}_\E:ﬁ‘a;r?(nd
[RE
@ Cam Holder i || @wze
) .
“ €] fazrﬂn%lider 1 | QT450
G
2 ® Cam Driver il |9
4 SEER
@ SligenTKeeper 28145
3 4 E]
(® | Positive Return 145
7 ~
% ® | Hoxagon Socket | 2 | M8x20
Head Bolt
UZ eSS
@ Coil Spring 1 || vizZr=iy
§$ﬁ§r 2 | s10x8
M7 FIBET
(® | Hexagon Socket 5 | M8%15
Head Bolt
iR
Stopper Plate 145
-
mIA BN
Working Force kN(tonf) Spring Force N(kgf)
1772 T i RERE RS wy|(e) SANKYO
Travel b(ﬁ,ggj%llﬂj)] ﬁ%%ggéj] WE 7353 Total Wﬁght Catalo-g No. KEXTER
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 294 245.0 980
52.3 (1.5) (3.0) (25.0) (100.0) 50 KSAC |52 55] SUCD
[Catalog No] [(W) (8]
KSAC 52 - 55
BRS BAZE
Option Code Specification
AR AN 102 60mm (F5E 10mmEa {iz)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-55-SC30




Aerial Cam Unit

~\

| KSAC52-60

B FEpHR

Table of Components

s am el MRS
No Description | Qty M?{:’::;ﬁ("d
R
@ Cam Holder i || ewrsm
& BER
@ | Cam Stider i || st
IR
2 ® Cam Driver 1|45
S
© SEER
@ Slide Keeper 2145
SEHIhL[E]
(® | Positive Return 1145
Follower
M7 FIBET
LX) (® | Hexagon Socket | 2 | M8x20
’63 Head Bolt
IE e
@ | & &hting 1 | TL27-100
Z ik
Sté)pper 2 | 210X8
AR
(@ | Hexagon Socket 5 | M8X15
Head Bolt
=1
Stopper Plate 1-[145
N
~ mIN B
Working Force kN(tonf) Spring Force N(kgf)
1712 AT I BERE KRS | (W)|(8)] SANKYD
Travel *?(1/(?073@7)] f%?%ﬁ ) VE KRIE Total Weight | Catalog No. REXIE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 245.0 980
60.0 (15) (3.0) (25.0) (100.0) 52 KSAC | 52 60| SucD
[Catalog No] [(W)-[(6)]
KSAC 52 - 60
BIRS G
Option Code Specification
RYETE AT I A04< 1 02)60mm (F5 7 10mmeEa fiz)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm). KSAC

52
Order KSAC52-60-SC30




Aerial Cam Unit

' KSAC52-65 |

4 R
B FEHR
Table of Components
RS B S I\ﬁ{lterial aind
No. Description Qty Remark
R EE
@ Cam Holder i || Qe
% @ | BB er i || ewsn
IREHER
® Cam Driver 148
Q) PES
& @ Slide Keeper 2145
BRI
(® | Positive Return 1|45
Follower
- el
2 (® | Hexagon Socket | 2 | M8x20
Z Head Bolt
YR HES I
@ | & Soring 1 | TL27-75
Z iR
Stopper 2 | 210X8
AARIEET
(©® | Hexagon Socket 5 | M8x15
Head Bolt
R
Stopper Plate 1145
-
~ mIN T
Working Force kN(tonf) Spring Force N(kgf)
1712 AT T BEE RS (W) ()|  SANKYO
Travel *ﬁ'ﬁgﬁ@? j%%}jl;@)j] WE 73 Total Weight Catalo1g? No. ST
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 327.0 981.0
47.3 (1.5) (3.0) (33.3) (99.9) 59 KSAC |52 | 65 sSucb
[Catalog NoJ| [(W) -[(9)]
KSAC 52 - 65
EmEs B
Option Code Specification
ZRYETE AT I A< 102060mm (F5 7 10mmeER fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-65-SC30




A

erial Cam Unit

[ 3\
- ™~
B TR
Table of Components
& s |wg MEAEE
N:— Description Qt? M?{zﬁ;&"d
R
@ Cam Holder 1 | QT450
TBEIR
@ @ bam Slider i || @wesw
oK
® Cadnii%river 1145
RES
@ Slide Keeper 2145
S 38 il [E]
QS A
n ® Positf\';e Return 1145
Follower
< FRIBET
® | Hexagon Socket 2 | M8x%20
Head Bolt
o
SR HES S
‘% 2 Coil Spring N C2
Z R
Stopper 2 | 210X8
AARIEE]
(® | Hexagon Socket 5 | M8x15
Head Bolt
iR
Stopper Plate 1145
N
I H BEN
Working Force kN(tonf) Spring Force N(kgf)
1712 TR ‘ RER RS W) | (6 SANKYO
Travel *ﬁlggj%llﬂj)] j%}%%jjjgé)ﬁ VIE RIE Total Weight Catalo-g No. i) e KEITEE
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 294 327.0 981.0
58.5 (15) (3.0) (33.3) (99.9) 59 KSAC 52170 Sucb
[Catalog No.| [(W) -[(6)]
KSAC 52 - 70
BIRS G
Option Code Specification
ZRYETE AT I A04< 1 02060mm (F5 7 10mmeEa fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm). KSAC
52

Order KSAC52-70-SC30




Aerial Cam Unit

 KSAC52-75 |

e ~

W FEpR

Table of Components

s s g MEAEE
No Description | Qty M?%:ﬁa;ral\(nd
R E
<) Cam Holder 1| QT450
BER
&) 'Cam Slider 1] QT450
IS
® | Cam Driver 1145
2
R @ Slide Keeper 2145
A k|
® | Positive Return 1|45
Follower
M7 FIBET
o ® | Hexagon Socket | 2 | M8x20
‘)-’2 Head Bolt
- IRHEA
@ | &h Sping 1 | TL27-45
Z iR
Stépper 2 | 210%x8
RARIEET
(@ | Hexagon Socket | 5 | M8X 15
Head Bolt
1R
Stopper Plate 11145
-
I A BEN
Working Force kN(tonf) Spring Force N(kgf)
1772 AT i) BEE RS (W) [(e)| SANKYO
Travel *ﬁlgoﬁ@j)] j‘%s%ﬁ@) HE 23:3 Total Weight| Catalog No. REXFER
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
147 29.4 327.0 981.0
46.3 (15) (3.0) (333) (100.1) 7.8 KSAC |52 | 75 Sucb
[Catalog No| [(W) -[(6)
KSAC 52 - 75
EmeEs B
Option Code Specification
ZRYETE AT I A< 102060mm (F5 7 10mmeER fi7)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

Order KSAC52-75-SC30




Aerial Cam Unit

| KSAC52-80 |

4 N
= 5|
B EEHER
Table of Components
we|  em o wm JERET
No Description Qty BEma
[RFE
® Cam Holder 1 | aT4s0
BENR
@ ICam Slider 1| @raso
IR R
® Cam Driver 1 )a8
SEZER
N @ Slide Keeper 21145
NS
SRR E
© ® | Positive Retum 145
Follower
NFRIBET
(® | Hexagon Socket | 2 | M8%20
a Head Bolt
z iRhER e
@ | et Spring 1 | TL27-45
ZrhiR
St(l)pper 2 | 10X8
RN FRIEET
(© | Hexagon Socket | 5 | M8x15
Head Bolt
1R
Stopper Plate 1145
-
 mIA EEN
Working Force kN(tonf) Spring Force N(kgf)
1772 FAEMT FT SEE RS (W)[(e)|  SANKYO
e ﬁl}lggjﬁlﬁl) ﬁ%%%@? E & Total Weight CatalogNo. KEXTER
S Standard Working Force Allowable Working Force Initial Load Final Load kg Catalog No.
(one million strokes) (300,000 strokes)
14.7 29.4 436.1 981.0
57.5 (1.5) (3.0) (44.5) (1001 7.7 KSAC (52| 80 sucb

[l {e)

Order
KSAC 52 - 80
EmES e
Option Option Code Specification
ZZETE AT A< 102)60mm (45 3E 10mmER £ir)
SC The mount surface is extended forward in the
range of 10 to 60 mm(at increments of 10mm).

N\NY 7

@ Order KSAC52-80-SC30

KSAC
52






